q-Special Function and Integral Transform

Ritu Sharma¹, Abha Tenguria²

¹Barkatullah Vishwavidhyalaya, Bhopal (M.P), India ²Govt. Maharani Laxmi Bai Girl's P.G. (Autonomous) College, Bhopal (M.P.), India

Abstract:-In this paper we discuss about special function with q-analog and find out relation of q-Gamma function into Laplace Transform and Fourier Transform. We find out some new property and relations.

Keywords – Special Function, Laplace Transform, Fourier Transform, q-analog.

I. INTRODUCTION

Quantum calculus or q- calculus is widely used in Mathematics. It is considered to be one of the most difficult subject to engage in mathematics. Quantum calculus and its application use in various fields of Physics, Mechanics and Mathematical Science. In previous years q-analogy play important role in Mathematics like q-Gamma function, q-Beta function and q-Integral Transform etc.

In this paper we present the definition of q – beta function and generalized q –gamma function and their relation and properties on q-integral.

We give notation and preliminaries of q analog in second section and discuss about q-pochhammer symbol. In third section we will define generalized q-gamma function and q beta function and their relation to integral transform and obtain some auxiliary result.

Notations and Preliminaries

 ${\bf q}$ -Pochhammer symbol-First we define how to apply q-notation in factorial ${\bf n}!$, we now that by definition of limits, for q tends to 1.

$$[n] \text{ or } [n]_{q} = \frac{1 - q^{n}}{1 - q}$$

$$= \frac{1 - q}{1 - q} \frac{1 - q^{2}}{1 - q} \frac{1 - q^{3}}{1 - q} \dots \frac{1 - q^{n}}{1 - q}$$

$$= (1 + q)(1 + q + q^{2}) \dots \dots \dots \dots$$

$$= 1 + q + q^{2} + \dots + q^{n-1} + \dots + q^{n} + \dots \dots$$

Then q-shifted factorial notation are

$$\langle a; q \rangle_n = \begin{cases} 1 & n = 0 \\ \prod_{m=0}^{n-1} (1 - q^{a+m}) & n = 1,2,3 \end{cases}$$

We also write this type

$$\langle a; q \rangle_n = (q^a; q)_n$$

Furthermore 0 < |q| < 1

$$(a; q)_{\infty} = \prod_{m=0}^{\infty} (1 - aq^{m})$$
$$(a; q)_{k} = \frac{(a; q)_{\infty}}{(aq^{k}; q)}.$$

For |x| < 1, |q| < 1 Power Series corresponding to

$$\sum_{k=0}^{\infty} (a)_k \frac{x^k}{k!} = \sum_{k=0}^{\infty} \frac{(q^a; q)_k}{(q; q)_k} x^k = \frac{(ax; q)_{\infty}}{(x; q)_{\infty}}$$

q-Exponential function –

The exponential function ex has many different q-extensions, one of them is defined as

$$E_{q}(x) = \sum_{k=0}^{\infty} \frac{x^{k}}{[k]_{q}!}$$

$$E_{q}(x) = \sum_{k=0}^{\infty} \frac{q^{k^{2}/2} x^{k}}{\langle q; q \rangle_{k}}$$

Consequently in the limitq \rightarrow 1, we have $\lim_{q\to 1} (E_q(1-q)x=ex$.

q-Gamma Function-

Jackson defined q –analogue of the gamma function by $\Gamma_{\!q}(n)$

Let us define

$$\begin{split} \Gamma_{q}(\alpha) &= \int\limits_{0}^{\frac{1}{1-q}} x^{\alpha-1} \; E_{q}^{-qx} \; d_{q} \, x \\ |q| &< 1 \;] \; \alpha \; \neq 0, -1, -2 \ldots \ldots \\ & \Gamma_{q}(\alpha) = (1-q)^{1-\alpha} \frac{(q;q)_{\infty}}{(q^{\alpha};q)_{\infty}} \\ &= (1-q)^{1-\alpha} \prod_{n=0}^{\infty} \frac{1-q^{\alpha+1}}{1-q^{n+\alpha}} \\ & \Gamma_{q}(\alpha) = [\alpha-1]_{q}! \end{split}$$

Generalized Gamma Function-

Classical gamma function extends infinitely many ways. This is useful to Mathematical problems. It is also called extension of gamma function.

Defination.1-The generalized gamma function is defined by [5]

$$\Gamma_{k}(\alpha) = \int_{0}^{\infty} x^{\alpha-1} \, e^{\frac{-x^{k}}{k}} \, d \, x \qquad \qquad k > 0 \, , \, \text{Re} \; (\alpha) > 0 \, . \label{eq:gamma_k}$$

Generalized gamma function Γ_k is a one parameter k-deformation, k>0 a real number of the classical gamma function it is also denoted in the form of pochhammer symbol

$$\Gamma_{k}\alpha = \log_{n \to \infty} \frac{n! \ k^{n} \ (nk)^{\frac{\alpha}{k} - 1}}{(\alpha)_{n,k}}$$

q-Generalized Gamma Function-

we give Jackson integral equation for q-generalized gamma function and beta function in terms of exponential function and pochhammer symbol are given by following formula[5].

$$\begin{split} \Gamma_{q,k}(\alpha) &= \int\limits_0^{\frac{k}{1-q^k}} x^{\alpha-1} \, e_{q,k}^{ \frac{-q^k x^k}{[k]_q}} \, d_q \, x \\ \Gamma_{q,k}(\alpha) &= \frac{(1-q^k)_{q,k}^{\frac{\alpha}{k}-1}}{(1-q)^{\frac{\alpha}{k}-1}} \end{split}$$

II. MAIN RESULT

Properties of q-Generalized Gamma Function

Theorem1.1.The generalized gamma function satisfy the following equation

$$\Gamma_{q,k}(\alpha + k) = [\alpha]_{q,k} \Gamma_{q,k}(\alpha)$$

k > 0 and q tends to 1

Proof- We know that generalized gamma function is

$$\begin{split} \Gamma_{q,k}(\alpha+k) &= \\ &= \frac{(1-q^{\alpha+k})\frac{\alpha+k}{q,k}-1}{(1-q)^{\frac{\alpha+k}{k}-1}} \\ &= \frac{(1-q^k)\frac{\alpha}{q,k}}{(1-q)^{\frac{\alpha}{k}-1}}.\frac{(1-q^{\alpha})_{q,k}}{(1-q)} \end{split}$$

$$\Gamma_{q,k}(\alpha + k) = [\alpha]_{q,k} \Gamma \Gamma_{\Gamma q,k}(\alpha)$$

Theorem-1.2 (log –convex property) Let $1 < a < \infty$ and $\frac{1}{a} + \frac{1}{b} = 1$, (k > 0, b > 0 then

$$\Gamma_{q,k}\left(\frac{x}{a} + \frac{y}{b}\right) \le \left(\Gamma_{q,k}(x)\right)^{1/a} \left(\Gamma_{q,k}(y)\right)^{1/b}$$

Proof- By defination of q generalized gamma function

$$\Gamma_{q,k}(\alpha) = \int_{0}^{\frac{\kappa}{1-q^k}} t^{\alpha-1} e_{q,k}^{\frac{-q^k t^k}{[k]_q}} d_q t$$

Let
$$\alpha = \frac{x}{a} + \frac{y}{b}$$
 then

$$\begin{split} \Gamma_{q,k}\left(\frac{x}{a} + \frac{y}{b}\right) &= \int\limits_{0}^{\frac{k}{1-q^k}} (t)^{\frac{x}{a} + \frac{y}{b} - 1} \, e_{q,k}^{-\frac{q^k t^k \cdot 1}{[k]_q}} \, d_q \, t^1 \\ &= \int\limits_{0}^{\frac{k}{1-q^k}} (t)^{\frac{x}{a} + \frac{y}{b} - (\frac{1}{a} + \frac{1}{b})} \, e_{q,k}^{-\frac{q^k t^k \cdot \left(\frac{1}{a} + \frac{1}{b}\right)}{[k]_q}} \, d_q \, t^{\left(\frac{1}{a} + \frac{1}{b}\right)} \end{split}$$

$$=\int\limits_{0}^{\frac{k}{1-q^{k}}}(t)^{\frac{x}{a}-\frac{1}{a}}\,e_{q,k}^{}\frac{-q^{k}t^{k}\cdot\left(\frac{1}{a}\right)}{^{[k]_{q}}}d_{q}t^{\left(\frac{1}{a}\right)}\left(t\right)^{\frac{y}{b}-\frac{1}{b}}e_{q,k}^{}\frac{-q^{k}t^{k}\cdot\left(\frac{1}{b}\right)}{^{[k]_{q}}}d_{q}t^{\left(\frac{1}{b}\right)}$$

$$=\int\limits_{0}^{\frac{k}{1-q^k}} \left\{ (t)^{x-1} \; e_{q,k}^{} \frac{-q^k t^k}{[k]_q} d_q t \right\}^{1/a} \left\{ (t)^{y-1} \; e_{q,k}^{} \frac{-q^k t^k}{[k]_q} d_q t \right\}^{1/b}$$

By Holder Inequality

$$\begin{split} &\Gamma_{q,k}\left(\frac{x}{a} + \frac{y}{b}\right) \\ & \leq \left(\int_{0}^{\frac{k}{1 - q^k}} t^{x - 1} \, e_{q,k}^{-\frac{q^k t^k}{|k|_q}} \, d_q t\right)^{1/a} \left(\int_{0}^{\frac{k}{1 - q^k}} t^{y - 1} \, e_{q,k}^{-\frac{q^k t^k}{|k|_q}} \, d_q t\right)^{1/b} \\ & \qquad \qquad \Gamma_{q,k}\left(\frac{x}{a} + \frac{y}{b}\right) \leq \left(\Gamma_{q,k}(x)\right)^{1/a} \left(\Gamma_{q,k}(y)\right)^{1/b} \end{split}$$

In above Theorem some special case can be gained. If a = b = 2, x, y > 0, Then result is

$$\begin{split} \Gamma_{q,k}\left(\frac{x}{2} + \frac{y}{2}\right) &\leq \Gamma_{q,k}\left(\frac{x}{2} + \frac{y}{2}\right) \leq \left(\Gamma_{q,k}(x)\right)^{1/2} \left(\Gamma_{q,k}(y)\right)^{1/2} \\ &\leq \frac{1}{2} \left\{\Gamma_{q,k}(x) + \Gamma_{q,k}(y)\right\} \end{split}$$

Defination.2. The q-generalized beta function is defined by

$$\begin{split} B_{q,k}(m,n) &= [k]_q^{-\frac{m}{k}} \int_0^{[k]_q^{1/k}} t^{m-1} (1 + \frac{-q^k t^k}{[k]_q})_{q,k}^{\frac{n}{k}-1} d_q t \quad m,n > 0 \\ B_{q,k}(m,n) &= \frac{(1-q)(1-q^k)_{q,k}^{\frac{n}{k}-1}}{(1-q^m)_{q,k}^{\frac{n}{k}}} \end{split}$$

Theorem 1.3 (Relation between generalized beta and gamma function)

$$B_{q,k}(m,n,p) = \frac{\Gamma_{q,k} m \Gamma_{q,k} n}{\Gamma_{q,k} m + n}$$

Proof-By property of q-generalized gamma function

International Journal of Research and Scientific Innovation (IJRSI) | Volume VII, Issue VI, June 2020 | ISSN 2321–2705

$$\Gamma\Gamma_{\Gamma q,k}(n) = \int\limits_{0}^{\frac{k}{1-q^k}} t^{n-1} \, e_{q,k}^{\frac{-q^k t^k}{[k]_q}} \, d_q \, t$$

Substitute t = x2 then $d_q t = [2]_q x d_q x$

$$\begin{split} \Gamma\Gamma_{\Gamma q,k}(n) &= [2]_q \int\limits_0^{\left(\frac{k}{1-q^k}\right)^{1/2}} x^{2n-2+1} \ e_{q,k}^{-\frac{q^k x^{2k}}{[k]_q}} \, d_q \ x \\ \Gamma\Gamma_{\Gamma q,k}(n) &= [2]_q \int\limits_0^{\left(\frac{k}{1-q^k}\right)^{1/2}} x^{2n-1} \ e_{q,k}^{-\frac{q^k x^{2k}}{[k]_q}} \, d_q \ x \end{split}$$

Both side multiply by $\Gamma_{a,k}(m)$

$$\Gamma_{q,k}(m) \Gamma_{q,k}(n) =$$

$$= [2]_q [2]_q \int\limits_0^{\left(\frac{k}{1-q^k}\right)^{1/2}} x^{2n-1} \, e_{q,k}^{\frac{-q^k x^{2k}}{[k]_q}} \, d_q \, x$$

$$\left(\frac{\frac{k}{1-q^k}\right)^{1/2}}{\int\limits_0^{}} y^{2m-1} \, e_{q,k}^{\frac{-q^k y^{2k}}{[k]_q}} \, d_q y$$

Assume $x = rcos_{q,k}\theta$ and $y = rsin_{q,k}\theta$

$$d_q x d_q y = [k]_q [r] d_q r d_q \theta$$

$$= [2]_q[2]_q \int\limits_0^{\left(\frac{2k}{1-q^k}\right)^{1/2}} \int\limits_0^{\frac{\pi}{2}} (r sin_{q,k} \theta)^{2m-1} \, e_{q,k} \frac{-q^k (r sin_{q,k} \theta)^{2k}}{[k]_q} \left(r cos_{q,k} \theta\right)^{2n-1} \, e_{q,k} \frac{-q^k (r cos_{q,k} \theta)^{2k}}{[k]_q} \\ [k]_q[r] d_q r d_q \theta$$

$$= [2]_q [2]_q \int\limits_0^{\left(\frac{2k}{1-q^k}\right)^{1/2}} [r]^{2(m+n)-1} e_{q,k}^{\frac{-q^k(r)^{2k}}{[k]_q}} d_q r)^{2n-1}$$

$$\int_0^{\frac{\pi}{2}} (sin_{q,k}\theta)^{2m-1} \ (cos_{q,k}\theta[k]_q d_q \theta$$

Rewrite the above equation

$$=[2]_q\int\limits_0^{\left(\frac{2k}{1-q^k}\right)^{1/2}}[r]^{2(m+n)-1}e_{q,k}^{\frac{-q^k(r)^{2k}}{[k]_q}}d_qr$$

$$[2]_{q}[k]_{q}^{\frac{-(m+n)}{k}} \int_{0}^{\left(\frac{\pi}{2[k]_{q}}\right)^{k}} \left(sin_{q,k}\theta\right)^{2m-1} \ (cos_{q,k}\theta)^{2n-1} d_{q}\theta$$

$$=\Gamma_{q,k}(m+n) B_{q,k}(m,n)$$

Relation Between q-Gamma Function and Integral Transform-

We introduce a new concept, namely q-Laplace transform of a function, which will play a similar role in mathematical analysis as well as mathematical physics. we generalized the function in terms of q –analog and find relation between generalized gamma function.

q-Laplace Transform is

$$L_q\{f(x)\}s = \int_0^{1/1-q} [e_q^{-sx}f(x)dx] \text{ for } \Re(s) > 0$$

Above Laplace Transform can be written in this form

$$\begin{split} L_q\{f(x)\}s \\ &= \begin{cases} \int_0^{1/(1-q)s} [1-(1-q)sx]^{\frac{1}{1-q}} [f(x)dx] \text{ for } \Re(1-(1-q)sx) > 0 \\ & \int_0^{1/1-q} \left[[1+(q-1)sx]^{-\frac{1}{1-q}} f(x)dx \right] \text{ for } \Re(s) > 0 \end{cases} \end{split}$$

Generalized q-Laplace Transform is

$$L_{q,k}\{f(x)\}s = \int_0^{k/_{1-q^k}} \left[e_q^{-\frac{q^k(sx)^k}{[k]_q}} f(x) d_q x \right] \text{ for } \Re(s) > 0$$

Theorem1.4-Substitute f(x) = xn-1 in above equation, then result is

$$\begin{split} L_{q,k}\{x^{n-1}\}s &= \int_0^{k/_{1-q^k}} e_q^{-\frac{q^\kappa(t)^\kappa}{[k]_q}} \left(\frac{t}{s}\right)^{n-1} \, d_q x \quad \text{for } \Re(s) > 0 \\ \text{Put } sx &= t \text{ Then } x = \frac{t}{s} \end{split}$$

Put
$$sx = t$$
 Then $x = \frac{c}{s}$

$$= \, \int_0^{k_{/1-q^k}} e_q^{\frac{-q^k(t)^k}{[k]_q}} \Big(\frac{t}{s}\Big)^{n-1} \, \left(\frac{1}{s^2}\right) d_q t$$

$$= \frac{1}{s^{n+1}} \int_0^{k/1-q^k} e_q^{-\frac{q^k(t)^k}{[k]_q}} (t)^{n-1} d_q t$$

$$=\frac{\Gamma_{q,k}(n)}{s^{n+1}}$$

International Journal of Research and Scientific Innovation (IJRSI) | Volume VII, Issue VI, June 2020 | ISSN 2321–2705

$$L_{q,k}\{x^{n-1}\}s = \frac{\Gamma_{q,k}(n)}{s^{n+1}}$$

Theorem 1.5

Relation between Gamma function and Fourier transform. if s>0 then

$$F_{q,k}[u(t)t^{n-1}] = i^n \frac{\Gamma_{q,k}(n)}{s^n}$$

Consider,
$$F_{q,k}[u(t)t^{n-1}] = \int_{-\infty}^{\frac{k}{1-q^k}} u(t)t^{n-1} e^{\frac{q^k(ist)^k}{[k]_q}} d_q t$$

where u(t) is Heaviside's unit function is defined as follows

$$u(t-a) = \begin{cases} 0 & t < a \\ 1 & t > a \end{cases}$$

$$\textstyle F_{q,k}[u(t)t^{n-1}] = \int_{-\infty}^{\frac{k}{1-q^k}} u(t)t^{n-1} \, e^{\frac{q^k(ist)^k}{[k]_q}} \, d_q t$$

$$= \int_{-\infty}^{0} \! u(t) t^{n-1} \, e^{\frac{q^k (ist)^k}{[k]_q}} \, d_q t + \int_{0}^{\frac{k}{1-q^k}} \! u(t) t^{n-1} \, e^{\frac{q^k (ist)^k}{[k]_q}} \, d_q t$$

 $=\int_0^{\frac{k}{1-q^k}}t^{n-1}\,e^{\frac{q^k(ist\,)^k}{[k]_q}}\,d_qt\quad [Using \ definition \ of \ Heaviside \\ unit \ function]$

put ist =-x then
$$t = \frac{-x}{is} \Rightarrow d_q t = -\frac{d_q x}{is}$$

$$= \int_{0}^{\frac{k}{1-q^{k}}} \left(\frac{-x}{is}\right)^{n-1} e^{\frac{(-1)^{k} q^{k}(x)^{k}}{[k]_{q}}} \left(\frac{-1}{is}\right) d_{q}x$$

$$\begin{split} &= \frac{-1}{is} \int_0^{\frac{k}{1-q^k}} \! \left(\frac{-xi}{i^2s} \right)^{n-1} e^{\frac{(-1)^k q^k(x)^k}{[k]_q}} \, d_q x \\ &= \frac{-i.\, i^{n-1}}{i^2s^{1+n-1}} \int_0^{\frac{k}{1-q^k}} \! (x)^{n-1} \, e^{\frac{q^k(x)^k}{[k]_q}} \, d_q x \\ &= \frac{i^n}{s^n} \! \int_0^{\frac{k}{1-q^k}} \! (x)^{n-1} \, e^{\frac{q^k(x)^k}{[k]_q}} \, d_q x \\ &= \frac{i^n}{s^n} \Gamma_{q,k}(n) \\ &F_{q,k}[u(t)t^{n-1}] = \ i^n \frac{\Gamma_{q,k}(n)}{s^n} \end{split}$$

REFERENCES

- Mounasellami, kamel brahim, and néji bettaibi, New inequalities for some special and q-special functions jipam, volume 8, article 47(2007).
- [2]. Mohammed muniru iddrisu and kodjoe isaac tetteh, The gamma function and its analytical applications, james, 23(3): 1-16, (2017).
- [3]. Thomas ernst, The history of q-calculus and a new method., (1999).
- [4]. Necmettin alp and mehmet zeki sarikaya, q-gamma and q-beta functions on quantum integral, article december 2018.
- [5]. Rafael D'iaz and Carolina Teruel†,q,k-generalized gamma and beta functions, February 1, 2008.
- [6]. Gauhar Rahman, Shahid Mubeen, Abdur Rehman, andMammona Naz, On q-Gamma and q-Beta Distributions and Moment Generating Functions, Hindawi Publishing Corporation Journal of Probability and Statistics, Published 15 July 2014.
- [7]. Shahid mubeen, A note on k-gamma function and pochhammer k symbol, JIMS Vol-6,2014.
- [8]. V.D.Sharma, Operational Calculus on Generalized Fourier Laplace Transform, IJSIMR, Vol2, 2014.